A5 C —‘-)l ? K= ’PL‘ =1 73 - -
T FF oI FE R
PHAIPRRRE P AFEFL- ERFBHRRE S RS RS
WERERZEEfe PEVKADT AR TR R BRI HE R T
AHAL L0 RBAEAR L RS TR PRRE ALl R

4.1 p 3R A e i3 & F]F

PHRIPRHRRE OREBFRER IR TP THERLERRE TIPS
TR THME LIRS B s D EALBE VRS S B A BR

RE IR LA R P ERR G 4

kA %yg B35 TV BRI ARG R DB 3
B REE CUE Y e ff 5 955104cem? . @ LR e BB ho S
3958.41cm? » #71) iFR RF I SR A F 2R E 1 X D R4 > LA

Fie ] A BT DR o

BRERGUF P 2 BRI RE R
HRRZ M v FAREERL D N PHEHET %
MR PEA Y - BRI A E o 4eB 4l R B EH T fe b F
il MRETEERERERFELRREEGNTRIM G o A2
W2 he® 42 777 > 2 B REPIFTEFZRwHT B FEE RIEAL
TRAFCZAFEFRVEFEF A RFTAL AR T2 RS
4.3 #7757 o

74



! B
7
A

B4l RRERE BTy L H
(Hpf e > 1999)

=, o

Bl 42 %2 RE ~ % TH
(4 p # 2z 1999)

75



Radial strain , %
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Displacement , mm
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